TEST STARLIGHT 4   Module 1
1) Complete the sentence.
1. I can buy a toy car at the toy shop.
2. I can buy some meat _________________.
3. I can buy potatoes ___________________.
4. I can get some money ________________.
5. I can buy some ______________________.

2) There is one mistake in each sentence. Find and correct it.
1. His father is the teacher.
2. Tom can play the tennis.
3. Where is a doll?
4. Kate can play piano well.
5. Your sister is in a living room.
6. They have got a friends.

3) Write the plural.
1. a book-books
2. a wife-
3. a toy-
4. a dress-
5. a tomato-
6. a scarf-
7. a child-
8. a man-
9. a cherry-
4) Read the text. Are the sentences TRUE or FALSE ?
My house is in Green Street. There is a supermarket opposite my house. There is a park next to the supermarket. My favourite toy shop is in West Street. It is between the post office and the sweet shop. My school is in East Street. There is a nice café on the right. I like to have a family dinner there.

1.  The supermarket is in Green Street._______________________
2. The post office is in East Street.__________________________
3. The sweet shop is next to the toy shop. ___________________
4. The café is opposite the school.__________________________
5. There is a park next to the school.________________________
5) Make up word combination.
1. Wash                                              a) the bed
2. vacuum                                          b) the table
3. make                                              c) the dishes
4. do                                                   d) the window
5. set                                                  e) the carpet
6. open                                              f) the ironing

6) Choose the correct preposition.
1) The cat is climbing   ( on/ up) the tree.
2) A woman is walking ( into/ through) the door.
3) A boy is jumping (over / through)  the fence.(забор)
4) The bird I flying ( from/ out of) the nest. (гнездо)      
5) The girl is walking (down / over) the stairs. (ступеньки)
6) A man is getting (out of/ through ) the car.
7) The man is throwing (бросает) an apple (into/ out of) the pin. 
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